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Question Bank

1. Write the equation of a line parallel to the X-

axis.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6wo0SInBuc5E


A. x=a

B. y=a

C. x=-a

D. x=0

Answer: B

Watch Video Solution

2. What is the smallest even composite

number?

https://dl.doubtnut.com/l/_6wo0SInBuc5E
https://dl.doubtnut.com/l/_RcF8By0YvLbN


A. 2

B. 3

C. 7

D. 4

Answer: D

Watch Video Solution

3. If 
 , then find
 the value of 


.

sin θ =
1

3

2 cot2 θ + 2

https://dl.doubtnut.com/l/_RcF8By0YvLbN
https://dl.doubtnut.com/l/_bp11cln552yp


A. 18

B. 36

C. 20

D. 9

Answer: A

Watch Video Solution

4. A piece of wire 20 cm long is bent into the

from of an arc of a circle, subtending an angle

https://dl.doubtnut.com/l/_bp11cln552yp
https://dl.doubtnut.com/l/_i4fYkwJH2FXD


of  at its centre. Find the radius of the

circle.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

cm
60

π

cm
20

π

cm
30

π

cm
15

π

https://dl.doubtnut.com/l/_i4fYkwJH2FXD


5. Find the value of 

A. 1

B. 9

C. -1

D. -9

Answer: B

Watch Video Solution

9 sec2 A − 9 tan2 A

https://dl.doubtnut.com/l/_ByKz7wPK3MrN


6. What are the zeroes of the polynomial

?

A. (3, 0)

B. (3, -3)

C. (0, 3)

D. (3, 3)

Answer: B

Watch Video Solution

(x2 − 9)

https://dl.doubtnut.com/l/_NKGhXZ40atOS
https://dl.doubtnut.com/l/_3TpZWxJQYZPK


7. If alpha,beta are the zeroes of a polynomial,

such that alhpa+beta=6 and alpha, beta=4,

then
write the polynomial.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 6x + 4

x2 + 6x + 4

x2 + 4x + 6

x2 + 4x + 6

https://dl.doubtnut.com/l/_3TpZWxJQYZPK
https://dl.doubtnut.com/l/_lSllwLMcXjYH


8. What is the angle described by the minute

hand between  pm and  pm?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4: 00 4: 25

120∘

150∘

90∘

135∘

https://dl.doubtnut.com/l/_lSllwLMcXjYH


9. What is the probability of getting exactly

one head in tossing a pair of coins?

A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

1

2

3

4

1

4

https://dl.doubtnut.com/l/_ndOzpjLN1sOt
https://dl.doubtnut.com/l/_qGGymZRmZvMC


10. What are the number of zeroes of the

polynomial f(x) in the given graph? 

A. 1

B. 2

C. 3

D. 0

https://dl.doubtnut.com/l/_qGGymZRmZvMC


Answer: C

Watch Video Solution

11. What is the value of ?

A. 

B. 

C. 

D. 

Answer: A

tan 30∘ + tan 60∘

4√3

3

2√3

α

√3

α

1

2

https://dl.doubtnut.com/l/_qGGymZRmZvMC
https://dl.doubtnut.com/l/_l4MaAhSpe3KU


Watch Video Solution

12. If , then the value of 

.

A. 

B. 

C. 

D. 5

Answer: D

cos ecθ − cot θ =
1

5

cos ecθ + cot θ

1

5

1

25

−1

25

https://dl.doubtnut.com/l/_l4MaAhSpe3KU
https://dl.doubtnut.com/l/_mrxY4zEATvOQ


Watch Video Solution

13. A boy walks 12 m due east and 5 m due

south. How far is he from the starting point?

A. 12 M

B. 17 M

C. 13 M

D. 20 M

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mrxY4zEATvOQ
https://dl.doubtnut.com/l/_XKaNLSDKGbJ9


14. If two
different dice are rolled together, the

probability of getting an even number
on both

dice, is
 
(b) 
(c) 
(d) 

A. 

B. 

C. 1

D. 0

Answer: A

Watch Video Solution

1

36

1

2

1

6

1

4

1

4

3

2

https://dl.doubtnut.com/l/_XKaNLSDKGbJ9
https://dl.doubtnut.com/l/_GBL0WeSvb7TD


15. What is the ratio of the areas of a circle

and an equilateral triangle whose diameter

and a side are respectively equal?

A. 

B. 

C. 

D. 

Answer: A

π

√3

π

3

√3π

4

π

2

https://dl.doubtnut.com/l/_GBL0WeSvb7TD
https://dl.doubtnut.com/l/_nqqSp2lBcyUq


Watch Video Solution

16. A card is drawn from a well shuffled deck of

52 cards. The probability of red queen is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2

13

1

22

4
13

1

26

https://dl.doubtnut.com/l/_nqqSp2lBcyUq
https://dl.doubtnut.com/l/_eICtbwLJlR5a


17. If the area and circumference of a circle are

numerically equal, then the radius of circle

is_____.

A. 2 units

B. 4 units

C.  units

D. 6 units

Answer: A

Watch Video Solution

π

https://dl.doubtnut.com/l/_eICtbwLJlR5a
https://dl.doubtnut.com/l/_AAyzA1HlF4Ri


18. Find the value of k for which the pair of

linear equations kx + 3y = k-3, 12x + ky = k has

no solution.

A. 

B. 

C. 

D. 

Answer: C

±4

±3

±6

±15

https://dl.doubtnut.com/l/_AAyzA1HlF4Ri
https://dl.doubtnut.com/l/_aPRCIpMHq109


Watch Video Solution

19. If , then find the value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 secθ = 5 cot θ

4
3

(c)
1

4

5

3

3

4

https://dl.doubtnut.com/l/_aPRCIpMHq109
https://dl.doubtnut.com/l/_ZCutWHktCl9I
https://dl.doubtnut.com/l/_CmOW9eqSsdsS


20. Find the solution of linear equations

 and ?

A. -16, 19

B. 3, 2

C. 11, 9

D. -21, 20

Answer: A

Watch Video Solution

x + y = 3 7x + 6y = 2

https://dl.doubtnut.com/l/_CmOW9eqSsdsS
https://dl.doubtnut.com/l/_Meel4fziL1g1


21. Find the distance between the coordinates

(7, -7) and (15, 8).

A. 13

B. 15

C. 17

D. 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Meel4fziL1g1


22. The sum of exponents of prime factors in

the prime -factorisation of 196 is

A. 2

B. 4

C. 6

D. 5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Nsz9slW30S3c
https://dl.doubtnut.com/l/_zZOwTEYIdZmP


23. If , calculate sec A.

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

sinA =
3

4

5

√7
3

√7

4

√7

https://dl.doubtnut.com/l/_zZOwTEYIdZmP


24. The zeroes of the polynomial

 are:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 3x − m(m + 3)

−m, m − 1

−m, − (mt3)

m, mt3

−m, m + 3

https://dl.doubtnut.com/l/_4F53CpqbOaU4
https://dl.doubtnut.com/l/_TvXJyn4PEE2O


25. Which of the following is irrational?

A. 3.1415926535

B. 10.2

C. 

D. 0.2

Answer: A

Watch Video Solution

(0.2)2

https://dl.doubtnut.com/l/_TvXJyn4PEE2O


26. Write down the decimal expansions of

.

A. 0.028

B. 0.00208

C. 

D. 

Answer: B

Watch Video Solution

13

6250

0.005

2

0.004
6

https://dl.doubtnut.com/l/_9eLkHJ7Ud6t8
https://dl.doubtnut.com/l/_cTsa7r6C2fab


27. In , it is given that 

 then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC and ΔDEF

=
AB

DE

BC

FD

∠A = ∠F

∠B = ∠D

∠A = ∠D

∠B = ∠E

https://dl.doubtnut.com/l/_cTsa7r6C2fab


28. In figure, if  and .

Then, 

A. 

B. 

C. 

D. 

∠BAC = 90∘ AD ⊥ BC

BD. CD = BC2

AB. AC = BC2

BD. CD = AD2

AB. AC = AD2

https://dl.doubtnut.com/l/_PrXk8FVhDPQq


Answer: C

Watch Video Solution

29. The probability that cannot exist among

the following:

A. 

B. 

C. 

D. 0.7

2

3

−1.5

15 %

https://dl.doubtnut.com/l/_PrXk8FVhDPQq
https://dl.doubtnut.com/l/_AanVn5DnP6Kr


Answer: B

Watch Video Solution

30. The point which divides the line segment

of points P(-1, 7)and Q(4, -3) in the ratio of 

is:

A. (-1, 3)

B. (-1, -3)

C. (1, -3)

D. (1, 3)

2: 3

https://dl.doubtnut.com/l/_AanVn5DnP6Kr
https://dl.doubtnut.com/l/_A8I259t2KjFt


Answer: D

Watch Video Solution

31. The decimal expansion of  is:

A. terminating

B. non-terminating and non-repeating

C. non-terminating and repeating

D. None of the above

Answer: C

22

7

https://dl.doubtnut.com/l/_A8I259t2KjFt
https://dl.doubtnut.com/l/_z2fMTbfYb0Zw


Watch Video Solution

32. If  of  and  is expressible in the

form , then the value of  is

A. 4

B. 2

C. 1

D. 3

Answer: B

HCF 65 117

65m − 117 m

https://dl.doubtnut.com/l/_z2fMTbfYb0Zw
https://dl.doubtnut.com/l/_gFByULMTl9tO


Watch Video Solution

33. Which of the following are not similar

figures?

A. Circles

B. Squares

C. Equilateral triangle

D. Isosceles triangles

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gFByULMTl9tO
https://dl.doubtnut.com/l/_gpx6SC7YNI3k


34. If 

,AB=5 cm,AC=8 cm and DF=7.5 cm. Then, which

of the following is true?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC~ΔDFE, ∠A = 30, ∠C = 50∘

DE = 12cm, ∠F = 50∘

DE = 12cm, ∠F = 100∘

EF = 12cm, ∠D = 100∘

EF = 12cm, ∠D = 30∘

https://dl.doubtnut.com/l/_gpx6SC7YNI3k
https://dl.doubtnut.com/l/_kcpMTMS4dny6


35. If one equation of a pair of dependent

linear equations is -3x+5y-2=0. The second

equation will be:

A. 

B. 

C. 

D. 

Answer: A

−6x + 10y − 4 = 0

6x + 10y − 4 = 0

6x − 10y − 4 = 0

−6x + 10y + = 0

https://dl.doubtnut.com/l/_kcpMTMS4dny6
https://dl.doubtnut.com/l/_aUznqzt2Uy2n


Watch Video Solution

36. The value of  is:

A. 10

B. 7

C. 3

D. 

Answer: C

Watch Video Solution

(√5 + √2)(√5 − √2)

√3

https://dl.doubtnut.com/l/_aUznqzt2Uy2n
https://dl.doubtnut.com/l/_ir3T2AvAdihD
https://dl.doubtnut.com/l/_UjayHSMkWc7O


37. If the centre of a circle is (3,5) and end

points of a diameter are (4,7) and (2, y), then

the value of y is

A. 4

B. 7

C. 3

D. -3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UjayHSMkWc7O


38. If  is right angled at C, then the

value of cos(A+B) is

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

1

2

√3

2

https://dl.doubtnut.com/l/_FBKIkn9dvwFS
https://dl.doubtnut.com/l/_N6BRbQwAL15L


39.  is

A. an integer

B. a rational number

C. an irrational number

D. a natural number

Answer: B

Watch Video Solution

2. ¯̄̄¯25

https://dl.doubtnut.com/l/_N6BRbQwAL15L


40. If the sum of the zeroes of the quadratic

polynomial    f(x) =     is equal

to their product, then m equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

mx2 + 2x + 3m

1

3

2

3

−
2

3

−
1

3

https://dl.doubtnut.com/l/_mOAhVmkke6gb


41. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

the positions of four students as shown in the

figure. 

 


The coordinates of A and B respectively is:

https://dl.doubtnut.com/l/_DmQFDdAe0tD3


A. A(3, 5), B(7, 8)

B. A(5, 3), B(8, 7)

C. A(3, 5), B(7, 9)

D. A(5, 3), B(9, 7)

Answer: C

Watch Video Solution

42. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

https://dl.doubtnut.com/l/_DmQFDdAe0tD3
https://dl.doubtnut.com/l/_7c7eXlozZoJk


the positions of four students as shown in the

figure. 

 


The coordinates of C and D respectively is:

A. C(11, 5), D(7, 1)

B. C(5, 11), D(1, 7)

C. C(5, 11), D(7, 1)

https://dl.doubtnut.com/l/_7c7eXlozZoJk


D. C(5, 11), D(-1, 7)

Answer: A

Watch Video Solution

43. Students of a school are standing in rows

and columns in their playground for a drill

practice . A, B, C and D are the positions of

four students as shown in figure . Is it possible

to place Jaspal inn the drill in such a way that

he is equidistant from each of the four

https://dl.doubtnut.com/l/_7c7eXlozZoJk
https://dl.doubtnut.com/l/_9zTW1tq6z6dr


students A, B C and D ? If so, what should be

his position ? 

A. Yes

B. Not possible

https://dl.doubtnut.com/l/_9zTW1tq6z6dr


C. Not true

D. None

Answer: A

Watch Video Solution

44. Students of a school are standing in rows

and columns in their playground for a drill

practice . A, B, C and D are the positions of

four students as shown in figure . Is it possible

to place Jaspal inn the drill in such a way that

https://dl.doubtnut.com/l/_9zTW1tq6z6dr
https://dl.doubtnut.com/l/_RrStTsFzm5sM


he is equidistant from each of the four

students A, B C and D ? If so, what should be

his position ? 

A. (7, 5)

B. (5, 7)

https://dl.doubtnut.com/l/_RrStTsFzm5sM


C. (7, 7)

D. (5, 5)

Answer: A

Watch Video Solution

45. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

the positions of four students as shown in the

figure. 

https://dl.doubtnut.com/l/_RrStTsFzm5sM
https://dl.doubtnut.com/l/_mR972yC8ZHUP


 


The distance between B and D is:

A. 5 units

B. 14 units

C. 8 units

D. 10 units

Answer: C

https://dl.doubtnut.com/l/_mR972yC8ZHUP


Watch Video Solution

46. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 


In each room the same number of participants

https://dl.doubtnut.com/l/_mR972yC8ZHUP
https://dl.doubtnut.com/l/_ixWh02fRMmSp


are to be seated and all of them being in the

same subject, hence maximum number

participants that can accommodated in each

room are

A. 14

B. 12

C. 16

D. 18

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ixWh02fRMmSp


47. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 


What is the minimum number of rooms

required during the event?

https://dl.doubtnut.com/l/_ixWh02fRMmSp
https://dl.doubtnut.com/l/_EwdTsW5dnAQz


A. 11

B. 31

C. 41

D. 21

Answer: D

Watch Video Solution

48. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

https://dl.doubtnut.com/l/_EwdTsW5dnAQz
https://dl.doubtnut.com/l/_ympILoFJKduW


subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 

The LCM of 60, 84 and 108 is

A. 3780

B. 3680

C. 4780

D. 4680

https://dl.doubtnut.com/l/_ympILoFJKduW


Answer: A

Watch Video Solution

49. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 


https://dl.doubtnut.com/l/_ympILoFJKduW
https://dl.doubtnut.com/l/_VsJ6GOFRglEQ


The product of HCF and LCM of 60,84 and 108

is

A. 55360

B. 35360

C. 45500

D. 45360

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VsJ6GOFRglEQ


50. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 


108 can be expressed as a product of its

primes as

A. 23 × 32

https://dl.doubtnut.com/l/_M51kD7I6S5fM


B. 

C. 

D. 

Answer: D

Watch Video Solution

23 × 33

22 × 32

22 × 33

51. Write the equation of a line parallel to the

X-axis.

A. x=a

https://dl.doubtnut.com/l/_M51kD7I6S5fM
https://dl.doubtnut.com/l/_c1qpGIfqublm


B. y=a

C. y=0

D. x=0

Answer: B

Watch Video Solution

52. What is the smallest composite number:

A. 2

B. 3

https://dl.doubtnut.com/l/_c1qpGIfqublm
https://dl.doubtnut.com/l/_Eoul2syBwvS6


C. 7

D. 4

Answer: D

Watch Video Solution

53. If 
 , then find
 the value of 


.

A. 18

B. 36

sin θ =
1

3

2 cot2 θ + 2

https://dl.doubtnut.com/l/_Eoul2syBwvS6
https://dl.doubtnut.com/l/_O6bKnBJtHShX


C. 20

D. 9

Answer: A

Watch Video Solution

54. If piece of wire 20 cm long is bent into the

form of an are of a circle subending an angle

of  at its centre. The radius of the circle is:

A. 

60∘

cm
60

π

https://dl.doubtnut.com/l/_O6bKnBJtHShX
https://dl.doubtnut.com/l/_c4eVQQvgamh9


B. 

C. 

D. 

Answer: A

Watch Video Solution

cm
20

π

cm
30

π

cm
15

π

55. Find the value of 

A. 1

B. 9

9 sec2 A − 9 tan2 A

https://dl.doubtnut.com/l/_c4eVQQvgamh9
https://dl.doubtnut.com/l/_NPV40FCSaAq8


C. -1

D. -9

Answer: B

Watch Video Solution

56. What are the zeroes of the polynomial

?

A. (3, 0)

B. (3, -3)

(x2 − 9)

https://dl.doubtnut.com/l/_NPV40FCSaAq8
https://dl.doubtnut.com/l/_VPMfzA7U032V


C. (0, 3)

D. (3, 3)

Answer: B

Watch Video Solution

57. If  are the zeroes of a polynomial such

that  and , then write down

the polynomial.

A. 

α, β

α + β = 6 αβ = 4

x2 − 6x + 4

https://dl.doubtnut.com/l/_VPMfzA7U032V
https://dl.doubtnut.com/l/_lKjEkeDopjuS


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 6x + 4

x2 + 4x + 6

x2 − 4x + 6

58. What is the angle described by the minute

hand between  pm and  pm?

A. 

4: 00 4: 25

120∘

https://dl.doubtnut.com/l/_lKjEkeDopjuS
https://dl.doubtnut.com/l/_ayeX06sZMrrQ


B. 

C. 

D. 

Answer: B

Watch Video Solution

150∘

90∘

135∘

59. What is the probability of getting exacttey

one head in tossing a pair of coins?

A. 
1

2

https://dl.doubtnut.com/l/_ayeX06sZMrrQ
https://dl.doubtnut.com/l/_hiPDjtESiNSA


B. 

C. 

D. 1

Answer: A

Watch Video Solution

3

4

1

4

60. What are the number of zeroes of the

polynomial f(x) in the given graph? 

https://dl.doubtnut.com/l/_hiPDjtESiNSA
https://dl.doubtnut.com/l/_gKPd37FQ0o1p


A. 1

B. 2

C. 3

D. 0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gKPd37FQ0o1p


61. What is the value of ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan 30∘ + tan 60∘

4√3

3

2√3

α

√3

α

1

2

https://dl.doubtnut.com/l/_gKPd37FQ0o1p
https://dl.doubtnut.com/l/_SbftfEDXYSRn
https://dl.doubtnut.com/l/_NGv6WjQ9sfCT


62. If , then the value of 

.

A. 

B. 

C. 

D. 5

Answer: D

Watch Video Solution

cos ecθ − cot θ =
1

5

cos ecθ + cot θ

1

5

1

25

−1

25

https://dl.doubtnut.com/l/_NGv6WjQ9sfCT


63. A boy walks 12 m due east and 5 m due

south. How far is he from the starting point?

A. 12 M

B. 17 M

C. 13 M

D. 20 M

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gcpahlWLIHb6
https://dl.doubtnut.com/l/_1lD3r2u9bsf8


64. If two
 different dice are rolled together,

the probability of getting an even number
 on

both dice, is
 
(b) 
(c) 
(d) 

A. 

B. 

C. 1

D. 0

Answer: A

Watch Video Solution

1

36

1

2

1

6

1

4

1

4

3

2

https://dl.doubtnut.com/l/_1lD3r2u9bsf8
https://dl.doubtnut.com/l/_HBCzbVzegAY0


65. What is the ratio of the areas of a circle

and an equilateral triangle whose diameter

and a side are respectively equal?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

√3

π

3

√3π

4

π

2

https://dl.doubtnut.com/l/_HBCzbVzegAY0


66. What is the probability of getting a red

queen when a card is drawn from a well

shuffled pack of 52 cards?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2

13

1

22

4
13

1

26

https://dl.doubtnut.com/l/_4uiGy4siJLvq


67. If the perimeter and the area of a circle are

numerically equal, then the radius of the circle

is.

A. 2 units

B. 4 units

C.  units

D. 6 units

Answer: A

Watch Video Solution

π

https://dl.doubtnut.com/l/_ljqRFLNp8O71


68. Find the value of k for which the pair of

linear equations kx + 3y = k-3, 12x + ky = k has

no solution.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

±4

±3

±6

±15

https://dl.doubtnut.com/l/_m8tUukamehTV


69. If , then value of  is:`

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 secθ − 5 = 0 cot θ

4
3

1

4

5

3

3

4

https://dl.doubtnut.com/l/_iHefjZQEf0X2


70. Find the solution of linear equations

 and ?

A. -16, 19

B. 3, 2

C. 11, 9

D. -21, 20

Answer: A

Watch Video Solution

x + y = 3 7x + 6y = 2

https://dl.doubtnut.com/l/_Jf0HbozbhSvx
https://dl.doubtnut.com/l/_sR47enyaVnjH


71. Find the distance between the coordinates

(7, -7) and (15, 8).

A. 13

B. 15

C. 17

D. 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_sR47enyaVnjH


72. What will be the sum of exponents of

prime factors in the prime factorisation of

196?

A. 2

B. 4

C. 6

D. 5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NqjQd00khrlh


73. If  calculate sec A.

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

sinA =
3

4

5

√7
3

√7

4

√7

https://dl.doubtnut.com/l/_zYxRSyOVL1vS


74. Evaluate the zeroes of the polynomial

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 3x − m(m + 3).

−m, m − 1

−m, − (mt3)

m, mt3

−m, m + 3

https://dl.doubtnut.com/l/_VzON4O6yRZTI
https://dl.doubtnut.com/l/_HiwSmuSiBeK8


75. Which among the following options is

irrational?

A. 3.1415926535

B. 10.2

C. 

D. 0.2

Answer: A

Watch Video Solution

(0.2)2

https://dl.doubtnut.com/l/_HiwSmuSiBeK8


76. Write down the decimal expansions of

.

A. 0.028

B. 0.00208

C. 

D. 

Answer: B

Watch Video Solution

13

6250

0.005

2

0.004
6

https://dl.doubtnut.com/l/_68ZfyxioXcNQ
https://dl.doubtnut.com/l/_RBj1t4vVRmtD


77. In , it is given that 

 then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC and ΔDEF

=
AB

DE

BC

FD

∠A = ∠F

∠B = ∠D

∠A = ∠D

∠B = ∠E

https://dl.doubtnut.com/l/_RBj1t4vVRmtD


78. In the figure given below 

and AD  BC. Then 


A. 

B. 

C. 

D. 

∠BAC = 90∘

⊥

BD. CD = BC2

AB. AC = BC2

BD. CD = AD2

AB. AC = AD2

https://dl.doubtnut.com/l/_4vhlLGGBR96H


Answer: C

Watch Video Solution

79. The probability that cannot exist among

the following:

A. 

B. 

C. 

D. 0.7

2

3

−1.5

15 %

https://dl.doubtnut.com/l/_4vhlLGGBR96H
https://dl.doubtnut.com/l/_tsHYik4cRNNq


Answer: B

Watch Video Solution

80. The point which divides the line segment

of points P(-1, 7)and Q(4, -3) in the ratio of 

is:

A. (-1, 3)

B. (-1, -3)

C. (1, -3)

D. (1, 3)

2: 3

https://dl.doubtnut.com/l/_tsHYik4cRNNq
https://dl.doubtnut.com/l/_RCcbh0UPIxKi


Answer: D

Watch Video Solution

81. The decimal expansion of  is:

A. terminating

B. non-terminating and non-repeating

C. non-terminating and repeating

D. None of the above

Answer: C

22

7

https://dl.doubtnut.com/l/_RCcbh0UPIxKi
https://dl.doubtnut.com/l/_SbCyrSkH6QAI


Watch Video Solution

82. If  of  and  is expressible in the

form , then the value of  is

A. 4

B. 2

C. 1

D. 3

Answer: B

HCF 65 117

65m − 117 m

https://dl.doubtnut.com/l/_SbCyrSkH6QAI
https://dl.doubtnut.com/l/_BJwWPJkB05IT


Watch Video Solution

83. Which of the following are not similar

figures?

A. Circles

B. Squares

C. Equilateral triangle

D. Isosceles triangles

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BJwWPJkB05IT
https://dl.doubtnut.com/l/_DmELM0pQpqL1


84. If 

,AB=5 cm,AC=8 cm and DF=7.5 cm. Then, which

of the following is true?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC~ΔDFE, ∠A = 30, ∠C = 50∘

DE = 12cm, ∠F = 50∘

DE = 12cm, ∠F = 100∘

EF = 12cm, ∠D = 100∘

EF = 12cm, ∠D = 30∘

https://dl.doubtnut.com/l/_DmELM0pQpqL1
https://dl.doubtnut.com/l/_kzNOx7Np6yM0


85. If one equation of a pair of dependent

linear equations is -3x+5y-2=0. The second

equation will be:

A. 

B. 

C. 

D. 

Answer: A

−6x + 10y − 4 = 0

6x + 10y − 4 = 0

6x − 10y − 4 = 0

−6x + 10y + = 0

https://dl.doubtnut.com/l/_kzNOx7Np6yM0
https://dl.doubtnut.com/l/_dMWlc8CKnNeq


Watch Video Solution

86. The value of  is:

A. 10

B. 7

C. 3

D. 

Answer: C

Watch Video Solution

(√5 + √2)(√5 − √2)

√3

https://dl.doubtnut.com/l/_dMWlc8CKnNeq
https://dl.doubtnut.com/l/_RJWj37ZBNoiL
https://dl.doubtnut.com/l/_VcwqyjQumNQN


87. What is the area of a triangle formed by

lines PQ and, RS and line X=0? 

A. 11.5 sq. units

https://dl.doubtnut.com/l/_VcwqyjQumNQN


B. 10 sq. units

C. 12 sq. units

D. 9.5 sq. units

Answer: C

Watch Video Solution

88. If  is right angle at C, then value of

cos (A+B) is:

A. 0

ΔABC

https://dl.doubtnut.com/l/_VcwqyjQumNQN
https://dl.doubtnut.com/l/_ivb2XayT2ePz


B. 1

C. 

D. 

Answer: A

Watch Video Solution

1

2

√3

2

89. In the given figure  the

value of x is: 

ΔABC~ΔPQR

https://dl.doubtnut.com/l/_ivb2XayT2ePz
https://dl.doubtnut.com/l/_QogQV2v4K8ZJ


A. 2.5 cm

B. 3.5 cm

C. 2.75 cm

D. 3 cm

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QogQV2v4K8ZJ
https://dl.doubtnut.com/l/_u6bkDnMdD5Qh


90. In the given figure, , which of the

following is true? 

A. 

B. 

C. 

D. 

DEIIAB

x =
a + b

ay

y =
ax

a + b

x =
ay

a + b

=
x

y

a

b

https://dl.doubtnut.com/l/_u6bkDnMdD5Qh


Answer: C

Watch Video Solution

91. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

the positions of four students as shown in the

figure. 

https://dl.doubtnut.com/l/_u6bkDnMdD5Qh
https://dl.doubtnut.com/l/_YYXhTZWI84Y4


 


The coordinates of A and B respectively is:

A. A(3, 5), B(7, 8)

B. A(5, 3), B(8, 7)

C. A(3, 5), B(7, 9)

D. A(5, 3), B(9, 7)

Answer: C

https://dl.doubtnut.com/l/_YYXhTZWI84Y4


Watch Video Solution

92. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

the positions of four students as shown in the

figure. 

https://dl.doubtnut.com/l/_YYXhTZWI84Y4
https://dl.doubtnut.com/l/_dYkFB3fBsxZF


 


The coordinates of C and D respectively is:

A. C(11, 5), D(7, 1)

B. C(5, 11), D(1, 7)

C. C(5, 11), D(7, 1)

D. C(5, 11), D(-1, 7)

Answer: A

https://dl.doubtnut.com/l/_dYkFB3fBsxZF


Watch Video Solution

93. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

the positions of four students as shown in the

figure. 

 


https://dl.doubtnut.com/l/_dYkFB3fBsxZF
https://dl.doubtnut.com/l/_ebjSyrly7jA4


Is it possible to place Ram (R ) in the drill in

such away that he is equidistant from all the

four students A, B, C and D?

A. Yes

B. Not possible

C. Not true

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ebjSyrly7jA4
https://dl.doubtnut.com/l/_Y0UI50CMG63D


94. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

the positions of four students as shown in the

figure. 

 


What are the coordinates of the position of

Ram?

https://dl.doubtnut.com/l/_Y0UI50CMG63D


A. (7, 5)

B. (5, 7)

C. (7, 7)

D. (5, 5)

Answer: A

Watch Video Solution

95. Case Study-1: Students of a school are

studying in rows and columns in their

playground for a drill practice. A,B,C and D are

https://dl.doubtnut.com/l/_Y0UI50CMG63D
https://dl.doubtnut.com/l/_7F8BvjzcYUod


the positions of four students as shown in the

figure. 

 


The distance between B and D is:

A. 5 units

B. 14 units

C. 8 units

https://dl.doubtnut.com/l/_7F8BvjzcYUod


D. 10 units

Answer: C

Watch Video Solution

96. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

https://dl.doubtnut.com/l/_7F8BvjzcYUod
https://dl.doubtnut.com/l/_ztnw8gJrerNc


 


In each room the same number of participants

are to be seated and all of them being in the

same subject, hence maximum number

participants that can accommodated in each

room are

A. 14

B. 12

C. 16

D. 18

https://dl.doubtnut.com/l/_ztnw8gJrerNc


Answer: B

Watch Video Solution

97. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 


https://dl.doubtnut.com/l/_ztnw8gJrerNc
https://dl.doubtnut.com/l/_yoXDLwQgwYGK


What is the minimum number of rooms

required during the event?

A. 11

B. 31

C. 41

D. 21

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yoXDLwQgwYGK


98. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 

The LCM of 60, 84 and 108 is

A. 3780

B. 3680

https://dl.doubtnut.com/l/_JFV1tm4XD4oy


C. 4780

D. 4680

Answer: A

Watch Video Solution

99. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

https://dl.doubtnut.com/l/_JFV1tm4XD4oy
https://dl.doubtnut.com/l/_6gaVTguCdXZ2


respectively. 

 


The product of HCF and LCM of 60,84 and 108

is

A. 55360

B. 35360

C. 45500

D. 45360

Answer: D

https://dl.doubtnut.com/l/_6gaVTguCdXZ2


Watch Video Solution

100. A seminar is being conducted by an

Educational Organisation, where the

participants will be educators of different

subjects. The number of participants in Hindi,

English and Mathematics are 60, 84 and 108

respectively. 

 


108 can be expressed as a product of its

primes as

https://dl.doubtnut.com/l/_6gaVTguCdXZ2
https://dl.doubtnut.com/l/_82hbRO2VBP5z


Section A

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

23 × 32

23 × 33

22 × 32

22 × 33

https://dl.doubtnut.com/l/_82hbRO2VBP5z


1. The  term of an A.P. is equal to 3 times the

first term and  term excess with the 

term by 1. Find its  term.

Watch Video Solution

4th

7th 3rd

nth

2. If the quadratic equation

= 0, has two equal roots

then find the value of p.

Watch Video Solution

px2 − 2√5px + 15

https://dl.doubtnut.com/l/_42wmsELoVU2r
https://dl.doubtnut.com/l/_gMvRxieOLb6s
https://dl.doubtnut.com/l/_pNovJqkscXVR


3. In the given figure, AB and AC are tangents

to the circle with centre O such that

. Then find the . 


Watch Video Solution

∠BAC = 40∘ ∠BOC

4. The diameter of a sphere is 6 cm. It is

melted and drawn in to a wire of diameter 2

https://dl.doubtnut.com/l/_pNovJqkscXVR
https://dl.doubtnut.com/l/_tzQ0AADd8ITm


mm. Find the length of the wire.

Watch Video Solution

5. Consider the following distribution: 

 


Find the frequency of the class 30 - 40.

View Text Solution

https://dl.doubtnut.com/l/_tzQ0AADd8ITm
https://dl.doubtnut.com/l/_2ydE16UGhsVO


6. If the roots of the equation

 are

equal, prove that .

View Text Solution

(a − b)x2 + (b − c)x + (c − a) = 0

b + c = 2a

7. Find the value of k for which the equation

 has real and

equal roots.

View Text Solution

x2 + k(2x + k − 1) + 2 = 0

https://dl.doubtnut.com/l/_9v5xAL7Yd6Pg
https://dl.doubtnut.com/l/_czqc2tYU8Vcj


Section B

1. In a retail market, fruit vendors were selling

mangoes kept in packing boxes. These boxes

contained varying number of mangoes. The

following was the distribution of mangoes

according to the number of boxes. 

 


Find the mean number of mangoes kept in a

packing box. Which method of finding the

mean did you choose?

View Text Solution

https://dl.doubtnut.com/l/_OtQS5Py37oii


2. If the median of the following frequency

distribution is 32-5. Find the values of

. 


View Text Solution

f1 and f2

https://dl.doubtnut.com/l/_OtQS5Py37oii
https://dl.doubtnut.com/l/_urwfdu1l4xbV


3. Draw two tangents to a circle of radius 3.5

cm, from a point P at a distance of 6.2 cm from

its centre.

View Text Solution

4. The arithmetic mean of the following

frequency distribution is 53. Find the value of

k. 

View Text Solution

https://dl.doubtnut.com/l/_77QHDPq5V4YR
https://dl.doubtnut.com/l/_icopGG4tLMay


Section C

1. A solid cylinder of diameter 12 cm and height

15 cm is melted and recast into 12 toys in the

shape of a right-circular cone mounted on a

hemisphere. Find the radius of the hemisphere

if the height of the cone is 3 times the radius.

View Text Solution

https://dl.doubtnut.com/l/_icopGG4tLMay
https://dl.doubtnut.com/l/_q92bL6weAme7


2. Six tennis balls of diameter 62 mm are

placed in cylindrical tube. Find the volume of

the six balls and the internal volume of

unfilled space in the tube and express this as a

percentage of the volume of the tube. 

View Text Solution

3. Out of the two concentric circles, the radius'

of the outer circle is 5 cm and the chord AC of

https://dl.doubtnut.com/l/_mH0u3zNmgaYB
https://dl.doubtnut.com/l/_FunGhEq6Mp4G


length 8 cm is a tangent to the inner circle.

Find the radius of the inner circle.

View Text Solution

4. One day while sitting on the bridge across a

river Aaradhya observes the angles of

depression of the banks on opposite sides of

the river to be  respectively as

shown in the figure. (Take = 1.73) 

 


30∘ and 60∘

√3

https://dl.doubtnut.com/l/_FunGhEq6Mp4G
https://dl.doubtnut.com/l/_BMANzYvj7sFt


Based on the above information, answer the

following questions : 

If the bridge is at a height of 6 m, then find AD.

View Text Solution

5. One day while sitting on the bridge across a

river Aaradhya observes the angles of

depression of the banks on opposite sides of

the river to be  respectively as

shown in the figure. (Take = 1.73) 

30∘ and 60∘

√3

https://dl.doubtnut.com/l/_BMANzYvj7sFt
https://dl.doubtnut.com/l/_ssBvD9NN9Otr


 


Based on the above information, answer the

following questions : 

What is the width of the river ?

View Text Solution

6. India is competitive manufacturing location

due to the low cost of manpower and strong

technical and engineering capabilities

contributing to higher quality production

https://dl.doubtnut.com/l/_ssBvD9NN9Otr
https://dl.doubtnut.com/l/_3wcJatRoLkzN


runs. The production of TV sets in a factory

increases uniformly by a fixed number every

year. It produced 16000 sets in 6th year and

22600 in 9th year. 

Based on the above information, answer the

following questions : 

Find the production for first year. 

Watch Video Solution

https://dl.doubtnut.com/l/_3wcJatRoLkzN


7. India is competitive manufacturing location

due to the low cost of manpower and strong

technical and engineering capabilities

contributing to higher quality production

runs. The production of TV sets in a factory

increases uniformly by a fixed number every

year. It produced 16000 sets in 6th year and

22600 in 9th year. 

Based on the above information, answer the

following questions : 

https://dl.doubtnut.com/l/_f2A3FUdkGNZi


In which year, the production is 29,200. 

Watch Video Solution

https://dl.doubtnut.com/l/_f2A3FUdkGNZi

